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The first question: (compulsory) [8 Marks for the first question ]

Chose the correct answer:-

1) If %:csczx, y=2 when ng ,then y = oot
—2 — cotx @ —3 — cotx

2) [sec*xtanxdx=....... +c

1 1
@ - sec’x @ : tan3x



V1 e £ diall (") dsaill — A a1 4y gl B — alad) andl) — Ml JalSil) g Jualdl)

3) The rate of change for V16 + x? with respect to x—Lz when x = -3
equals.......... .

4) [(Bx+2)cosxdx=....... +c
@ (3x + 2 )sinx + 3cosx @ (3x + 2 )sinx — 3sinx

@ 3x + 2sinx — 3cosx @ (3x + 2 )sinx + 3sinx
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3) The absolute maximum value of the function f(x)=vx -1 ,
x€[2,5]equals...........

@ 49 T

.........................................................................................................................................
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) If f(x) = x2—3In5x , then fY(2) = «wreem

®
® ©

.........................................................................................................................................

.........................................................................................................................................

.........................................................................................................................................
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Answer only three questions of the following: [4 Marks for each]

The second question

a) Find the local maximum and local minimum values of the
function f(x) = x3 — 9x% + 24x + 1, then find the infliction
points if exists.

.........................................................................................................................................
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b) Find the equation of the curve y = f(x) which passing through
the point (0 , %) and slope of its tangent at any point (x,y) is
given by the relationm=x+vx+1 .

.........................................................................................................................................
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The third question

2
a)lfy (1+ x?) =1, then prove that (1 + xz)% + 4x X % +2y=0.

.........................................................................................................................................
.........................................................................................................................................
.........................................................................................................................................
.........................................................................................................................................
.........................................................................................................................................
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b) Find the area of the plane region bounded by the curve

y=3+2x— x* and x-axis.
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The fourth question

a) The lengths of the legs of the right angle a right angled triangle
at a moment , are 9 cm and 12cm . If the length of the first leg
increases at a rate of 2cm/sec and the length of the second leg
decreases at rate of 1 cm/sec, Find :

1- The rate of increase in the area of the triangle after 2 seconds.
2- When does this triangle become an isosceles triangle?
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b) Find the volume of the solid generated by revolving the region
bounded by the curve y = x> +1 , y-axis and the straight line
y = 4 one complete revolution about y-axis .

.........................................................................................................................................
.........................................................................................................................................
.........................................................................................................................................
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The fifth question

a) Find the equation of the tangent to the curve of the function

y = f(x) where x =3 + cos20 , y=cot0 at 6 = %

.........................................................................................................................................
.........................................................................................................................................
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3 3
b) If ff(x)dx =9, ff(x)dx =4 , then find the value of
22 5

.........................................................................................................................................
.........................................................................................................................................
.........................................................................................................................................
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